ES % 4
5 i
A F A H

At BT FR

AR #ERER

XELFE BmRHOatig

XELFE

ER265E4817H 9:30
& 211488E

= & % 1 2 3 e
RHHEH)
110
ST )
109
ot
108.30
()=
110
PRI
109.50
A ) 4L
108
B3 IBEG)
109.50
)
109.50
% AL ~ H AtLELHEE ¥ 108
FRNR G (HR) HHSE( s WwME) ¥ 116.640

1/12 R—=2




AR #ERER

2 % 2 EHEtUS— BHBRHOME

5 A ORFietE8—
A A £ A B TFReF4A178 9:40

AMBATEFR TR 211REBE

= & % 1 2 3 e
EREFREE ()
106
STPRHR) iR #iR
HOm %
106
=4S
108
FHROSK IR
105.50
CESESRIE)
106
BEIEEG)
105.50
R ) %l
105
% 1=L~ & AFERHEE Y 105
[E=p:le ) EFEE( s %mE) ¥ 113.400

2/12 R—=2




ES % 4
5 i
A F A H

At BT FR

A fl &

BEARERE THBRMOHE

BHRARARE

ER265E4817H 9:50
& 211488E

R X

= & % 1 2 3 e
BREFEEGR
108
ISFRBGER) R R
(O
106.50
M=HEBESE
110
FHEOKHER)
107
AR HE -2
106
B3IEEGRR)
106.50
[EE=p:(C )
107
& AL ~ & AHEXLHEE ¥ 106
H A B i (ER) EFEE( s %mE) ¥ 114.480

3/12 R—=2




ES % 4
5 i
A F A H

At BT FR

A fl &

#EhmE AR OME

SBEETHNE

ER265E4817H 10:00
& 211488E

R X

= & % 1 2 3 e
EREFREE(HR) &AL
106
ISFRBGER)
107
B E
107
M=HEBESE
108
FHEOKHER)
107
AR HE
107
B3IEEGRR)
106.20
[EE=p:(C )
107
x L& AFERHEE Y 106
REFEEGER) EFEE( s %mE) ¥ 114.480

4/12 R—=2




AR #ERER

% % g SBETRER BHRMOUEE

% M SEEETmREE
Af # A B ER26F4A17H 10:10

AMBATEFR TR 211REBE

= & % 1 2 3 e
IREFAEER)
107
TSR #iR iR
BORE EHL
105
(=S
110
FHROA (R
108
EEIL-EES
105.50
R ()
108
% *E_ & AHELHEE ¥ 105
(BRORF EFEE( s %mE) ¥ 113.400

5/12 R—2




AR #ERER

x 5 2 BBETEFAFS THANOMRS

5 o BBRTRIATS
A # £ B B FH26E4F17H 10:20

AMBATEFR TR 211REBE

= & % 1 2 3 e
BRI B ()
104
TSR
102
BORE
102
(=S
102.60
SR IE ¢ ))
101.50
B3I &AL
101
RO
104
L & AtLELHEE ¥ 101
EEIGEC ) EFEE( s %mE) ¥ 109.080

6/12 R—2




ES % 4
5 i
A F A H

At BT FR

A fl &

hRERE AHAMOME

BEHETPRERE

ER265E4817H 10:30
& 211488E

R X

= & % 1 2 3 e
EREF R (k)
104
STSFR ) A
102
(O
102.50
=4S
102.60
FHROSK IR
102.50
EEIFEESES)
102.50
R )
104
% iL ~% AFERHEE Y 102
TSP H(ER) EFEE( s %mE) ¥ 110.160

17/12 R—=2




ES % 4
5 i
A F A H

At BT FR

A fl &

AREBA BRRHEOME

BERTIAREHH

ER265E4817H 10:40
& 211488E

R X

= & % 1 2 3 e
EREFREE(HR)
106
TP SRR
103.50
(O
105
M=HEBESE
108
FHEOKHER) &AL
103
B3IEE#N)
103.30
R R
105
& AL ~ & AHEXLHEE ¥ 103
FHAOK H (BR) EFEE( s %mE) ¥ 111.240

8/12 R—2




AR #ERER

= % 2 POHAEBAZSETON(EEW-5F7-2WD-4AFEY 18)
15 i BTk 1044 EETERT
A & B H TRk265%48178 10:55
AR B ITH R HERT 21188%E
E 3 & 1 2 3 &=
1 (BEREHE EN]
858,000 840,000
2 BIEBHEIEGH iR B
1,018,000
3 EHFIFEEEGR) 3R 3R R
4 FEEEEBEG) iR B
986,000
5 HH=ZEEEREG) iR R
1,050,000
6 (RFHEIVE iR iR
932,012
7 (AR XBEREH iR 3R R
8 (R AH—ZHE 3R 3] R
9 (HBETLY R iR R
10 (¥)BH4 R IR
1,040,000
I AMLEZEDHSE ¥
EALEE( wmE) ¥

9/12 R—=2




AR #ERER

= x g OAEBABEZTO20MEEMA-5F7-2WD-5AEY 18)

15 i BTk 1044 EETERT
A & B H TRk265%48178 11:05

AMBATEFR TR 211REBE

E 3 £y £ 1 2 3 -k

| BEAEBE #E 538

2 ENEHETEH) 558 5B

3 REFISETER) 558 538

4 REBEEBEGR) AL
1,200,000

5 HE=EABERAG 558 538

6 (HEETVS #i8 558

7 BRXE B 58 5B

8 (RS H— X5 #iR 58

o (BB #iR 5B

10 (BpBY%H

1,435,000

& AL & AHLERHELE ¥ 1200000

REEERBRGER) EHSE( S WME) ¥ 1,296,000

10/12 R—2




AR #ERER

= % 2 DOHAEBASETOIEEW-5F7-4WD-4AFEY 18)
15 i BTk 1044 EETERT
A & B H TRk265%48178 11:15
AR B ITH R HERT 21188%E
E 3 & 1 2 3 &=
1 (BEREHE FN
933,000 919,000
2 BIEBHEIEGH iR B
1,130,000
3 EHFIFEEEGR) 3R 3R R
4 FEEEEBEG) iR B
1,086,000
5 HH=ZEEEREG) iR R
1,140,000
6 (RFHEIVE iR iR iR
7 (AR XBEREH iR 3R R
8 (R AH—ZHE 3R 3] R
9 (HBETLY R iR R
10 (¥)BH4 R IR
1,133,000
I AMLEZEDHSE ¥
EALEE( wmE) ¥

11/12 R—=2




AR #ERER

= x g ODAEBABEZTOACMEREMA-5F7-2WD-8AEY 18)

15 i BTk 1044 EETERT
A & B H TRk265%48178 11:25

AMBATEFR TR 211REBE

E 3 £y £ 1 2 3 -k
| BEAEBE #E 538
2 ENEHETEH)

2,018,000

3 REFISETER) 558 538

4 REBEEBEGR) AL
1,800,000

5 HE=EABERAG 558 538

6 (HEETVS #i8 558

7 BRXE B 58 5B

8 (RS H— X5 #iR 58

o (BB #iR 5B

10 (#H)BAY% iR iR

& AL & AHLERHELE ¥ 1,800,000

REEERBRGER) HHLE( SWME) ¥ 1,944,000

12/12 R—2




